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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the
average went up by 2 yr. Find the actual average
age of the class.
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Part-1 P-11-MABCS-JC-17
MATHEMATICS

SECTION-A: 80 Marks

Instructions : Each question under this section carries two marks. Please read each
question carefully and answer them by selecting the right one out of the multiple answers

given below each as A, B, C and D. TeChOfWO rld . I n

. A has double the money of B and B has 50% more money than C. [f average money of all the
three persons is Rs. 12000, how much money does A have?
B QISI6Q QI FIQ 9@ Fa A QISIER 9e° C QINER &9 ©S1Q 50% e B 916 2 | OF
&0 94C QI8IER 29I 691Q YAVT 12000 =1 §9, 606Q A QISER 6Q6E 1 AF?

211006 315000 216000 316000

A) =5 B)—% O 11 D)=

2. The difference between the sale prices of an article with a discount of 30% and two
successive discounts-of 20% and 10% on the marked price comes to Rs.72. What is the
marked price of the article? ‘

60154 Qaide Age AR aaea 30% GaF ale F9a Ry 9e° 20% 6 10% @ 9eF SFie
Q2@ 926 T90 MY AUER DIEY 72 6C1 | aNETa AYe AN 696072
A) Rs.3600 B) Rs.3000 C) Rs.2500 D) Rs.2400

3, The marked price of a clock is Rs.3200. It is to-be sold at Rs.2448 at two successive
"discounts. Il the first discount is 10%, what is the second discount?

69154 WeIa FYE 714 3200 691 | 9NIG 2448 STI6R GRS gab o coa Sea SaIaR! |
QG gan G 10% searq, §o1a Guida o 69697
A) 5% B) 10% C) 15% D) 20%
4. Il‘x+lx= 2,then what is the value ofx—i-? ‘
- 1 1
Q0 x+< = 294,606Q x — - QFAN6R60?

"

‘A)0 - B) 1 , C)2 ID) -2
5. In4ycars, Rs.6000 amounts to Rs.8000. In what time at the same rate, will Rs.525 amount to

Rs.700? ,

6000 SC1 GG QE6a 8000 €61 94 | 6AT 2AAEA 69ER ANAGR 525 SR 700 eI §F

qLL? . ’

A) 2years B) Jyears C) 4years D) Sycars
6. (m-n)’+ (n—r)*+(r—m)? h. 2 ' '

6(m=n) (n-r) (r-m) ’
(m-n)*+ (n—-r)?+(r-m)? - 69607

6(m=n) (n-r) (r-m)
ISt B)L Sk D)5
7. A, B and C invested their capitals in the ratio of 5:6:8. At the end of the business, they

received the profit in the ratio of 5:3:1. Find out the ratio of time for which they contributed
their capitals.

A, B 8 C 6AIRE ARuRg 5:6:8 2001060 SH60I Q6 | QISAID 68A6R 6QAIEH 5:3:1
2FIVEA QIR VIQER | 6AAUCH FRUR HEONYR AR VDI FdA 98?2
A)12:9:7 B) 25:18:8 C) 5:6:8 D) 8:4:1

8. Madan purchased 40Kg of wheat at Rs.12.50 per Kg and 25Kg of wheat at Rs.15.10 per Kg.
He mixed the two quantities of wheat for sale. At what rate should he sell to gain 10%?

Aee @6AIgIN 9F ©.12.5009Q1 068 40 608 1e° §.15.10004 @961 25 68 agn Sdal
| 3G *GQ 90 O8AIA ALAQ 6Q AAIN 6CRI | 10% QIR AEIQ OI] 6Q 6960 CRER
8ga ed9?

A) Rs.13.25 B)Rs.13.50 ° C) Rs.14.75 D) Rs.14.85 .
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9. How many numbers are there bctwe&n 4000 and 6000 which are exactly divisible by 32, 40,

48 and 607 -
4000 99" 6000 AIUIEA 31 EREGIT QeI 32, 40, 48 19 60 TIQI A°Q4 Q162 SRIRY 6297
A)2 B) 3 C)4- D)5

10. A sold a watch to B at 40% gain and B sold it to C at a loss of 20%. If C bought the watch for
Rs.432 at what price did A purchase it,

6RITN Q8IQ A 40% QINER B G 4e* B 20% a56a C g 8ga eal 1 9§ C 2$15Q 432 gCiIcR
3801, A GIQ 6968 GR6R FEgRI? "
A)385.71 B) 315.71 C) 550.71 D) 250.71

11. When the price of sugar is increased by 20%, a house wife reduces consumption of sugar by
20%. What will be the effect on her expenditure on sugar?
500 0@ 20% 9F 62919, 964 qTa1 OISR 57 S 20% A CTCVEA | 6962 TN 57 AR
SR IS 96 629 ? .

A) remain unaltered * B)decrease by 20%
C) decrease by 4% D) increase by 4%

12. A stants a business with Rs.9000 and B joins him after 6 months with an invesiment of
Rs.45000. What will be the ratio of the profit of A and B at the end of year?

9000 £ FREAIN 94 A 6615 MIAID AIRA QI 99° S1A 6 AIATER 45000 61 Sasa
@5 B 60196949 | 9 68960 A 0 B @ QI9R AGIT 6960 6297
AL B)5:2 . Q)25 . D)si
13.  What is the greatest four digit number which when divided by 10, 15, 21 and 28 leaves

remainders of 4, 9, 15 and 22 respectively? )
699 QoS §4g LUEN QG 10, 15, 21 99° 28 FIQI VIAVER, VAFCES AGEN 4, 9, 15

626807 Techofworld.In
- A)9654 i B) 9666 - - C)9664 D) 9864.
14.  The difference between a two- digit number and the number obtained by interchanging the
position of the digits of that number is 54. What is the difference between the digits of that
number? ‘

4R Q0 2% G898 Q'em 9” 698 TR SRS LR SRR CARER OIg ' AUEH IFeY 54 |
632 TR ASAIRS FRIER Q6D 6RER 7
A)6 B)9 _ )15 D) 21

15, In a business, Rakesh invested 10% more than the investment of Mona and Mona invested

10% less than the investment of Rajesh. The total investment of all the three persons is
Rs.5780. Find out the investment of Rajesh.

6QI5 HEQAUDER NS GAIRI 26D 10% Ze SREAIT VR 99° 671 QISSER GR6AIR
OGAI0IR 10% f SFe0IT aRI | F RESa 6AIF SReaIIR 0FAIA 5780 61 | IESER

afe0iaa adna Gda ea |

A)2010 B) 2000 C) 2100 D) 2210
16. 'Gold is 19 times as heavy as water and copper 9 times as heavy as water. What is the ratio in
which these two metals shall be mixed so that the mixture is 15 times as heavy as water?

gRl, S99 GRFA 1996 9 6F) §F BRA 9 g4 | 694 AVICER ANa UIgY fga 6.,
figad o9 6eRa 15 g0 6297
A)1:22 B)2:3 C)3:2 ' D) 6193E g€

17. Simple Interest for the sum of Rs.1230 for 2 years is Rs,10 more than the simple interest for
Rs.1130 for the same duration. Find out the rate of interest.

1230 /R 9R ©UQ QER GV, 1130 §FI9 AAIR 2GR AR GUOIP 10 6F1 BYR | QIR R
fdaea 7
A) 5% B) 6% C) 8% D) 2%
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The average age of the students of a class is 15.8 years. The average age of the boys in the

 class is 16.4 years and that of the girls is 15.4 years. What is the ratio of boys to girls in the
. class? ‘

6515 6961 BIGRIGIAIRG ANIAT @A 158 9F | 63T 64419 VAR LG ©9Q 16.4

ed 4e° BGININS AR ©AQ 15.4 @d | 666 65416Q BIg B TIQIT aAGAIS 6960 ?

A)1:2 B)23 ° - . Q)34 - D) 6416GE gee

Find the value ofJSO +vV30+v30+ 7

J30+ /30 + V30 + - QERY 6R69 ?

A) 5 ' B) V10 C)6 D)7
What is the least number which when diminished by 7, is divisible by cach one of 21, 28, 36
and 457 ' .

600 YGON ASHITQ 7 FEAIT F6R, 9121 21, 28, 36 8 45 FIQI TAUSY 679 ?
A) 1253 B)II77 . C)1265 . D) 1267

A certain sum amounts to Rs.12960 at compound interest in 2years and Rs.13176 in 3years,
Find out the percentage of rate of interest per annum.

6RO GRaIR 99T QuEa 98 ed6R 12960 €1 4 9e* &7 edsa 13176 6@ 94 | @ifie
QA 218 fga aa | . .

A) 13% B)2:% . O 12%. D) 22%

20 litres of a mixture contains milk and water in the ratio 5:3. If 4 litres of this mixture is
replaced by 4 litres of milk, what will be the ratio of milk and water in the new mixture?

20 AE9Q 99 (igaca T1Q 8 690 2GAIR 53 1.95 4 Aea FgaQ 4 Ace 1A Fial 909
FAUDIN, o7 AFAER TR 0 FRA AYAIT 6960 6297 . '
A)2:3 B)4:3 ,C)5:3 D) 7:3

If the marked price of an article is 30% more than its cost price and 10% discount is given,
what is the percentage of profit?

9% eqIBq AQIER FYS RN S1R T4 FRIOIR 30% YR 9S° S QAR 10% G2E daian,
6969 A6RG! AIN 6860? '

Techofworld.In

A)18% B) 20% C) |§% D) 17%
What quantity of water should be added to reduce 6 litres of 50% acidic to 20% acidic water? -
6 SR 217, 9RQ 50% QIR 20% 2GGIg TRER SARIQ 6966 0FNIA 79 AaQeq 98e?

A) 8 litre ) B) 9 litre C) 12 litre D) 9.5 litre
A and B invest in a business in the ratio of 3:2. If 5% of the total Profit goes to a charity and

A’s share is Rs.4275, then what will be the total profit? ~
A B B 69184 Q49QAIR6Q 3.2 AGAIGEH &gl TR6AIT @a8 | 98 6AIR AR 5% AIER
MSNAIN 9L° 42756F1 A QIS NG, ARQID AN O 69607

~ A) Rs.8000 B) Rs.7700 C) Rs.7500 D) Rs.6500

What is the difference between the simple interest and compound interest on Rs.5000 at 10%
per annum for 3 years? '

5000 691 QIFQ 10% 2AR6Q 3 2da QR QU 9S° 059F QY FAIER QITRY 69667

A)Rs.145 B) Rs.155 * C)Rs.165 ; D) Rs.180
In a school, the number of boys and the girls is in the ratio of 2:3. If the number of boys is

increased by 20% and that of girls is increased by 10%, what will be the new ratio of the
number of boys to that of the girls? '

6015 FRIR0EA Q19T 6 QITAIT 2010 2:3 | AT QRRE QUG 20% 1e* IR A’
10% 9F @QIQI, 6969 QINQ 6 AIRAT AR §OR AGAIE 6966 6297
A)4:5 . B)5:8 " 0811 o ) 11:13
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28. In an examination, 70% candidates passed in English and 65% in Mathematics. If 27%
‘candidates failed in both the subjects and 248 passed the ewammatlon what is the total
number of candidates?

sEI aenaea 70% QI?_H SCAINIER 1Q° 65% QGQGQ qu G?'Eﬁ‘l | 9§ 27% glE’ﬂ zintal

SIA6ER TR 6261 IL° 248 B6 TAIVIER a1q G‘GQ 606 6911 AIBILNS QeI EG‘GG"’
A)400 . B) 348 C)420 D) 484

29, When 50% of one number is added to a second number, the second number increases to its
" 4/3. What is the ratio between the first and the second number?

6T Qe S0%] G910 TaER 6aI8 @6R, Fo1a Q6T OIR 4/3 a’@q 98941 9an 6
Fo10 Qi 2AYAIC 69697
CA)32 B) 3:4 023 - . - D)6NedF gex

30. A dealer marks his goods 30% above the cost price and then allows 15% discount on it. What
is the cost of an article on which he gains Rs.84/-2

7 966 Q4RI FAIRIN Q96Q 30% 69ITRE ' G‘G‘GI Jéea Fli\'i emes 99 Ol QUen 15%
020 69Q 87 @6a | 6AIGN §68 QU6R 6Q 84 0T QIR QQYEM, 6AT FRATR RGN

6a66? Techofworld In ||
A) Rs.800 C)Rs.373.33 D) Rs.280

*1. The HCF and LCM of two numbers are 12 and 72 respectively. If the sum of the two
*numbers is 60, what is one of the two numbers?

gRE TR GAIg 6 QAIg ARIGER 12 @ 72 1 98 s 9ada CAINTR 60 94, 6968 FGUR
6QII5~q Q°BY| 6R6Q ? -
A) 12 B)24 . b C) 60 _ D) 72

32, Two-fifth of three-eighth of a number is 24."What is 250 percent of that number?

66ITN Q3R 6 29199 98 DBAIH 6208 24 1 6A8 AHYIR 250 G5AS 6968 ?
A) 450 8) 400 €) 300 " D)160

33. IfX=2+V2and Y =2- V2, then find the value of (X* + Y?)
- A8X=2+V298°Y = 2-VZ, 6669 (X’ + V)@ 0N Rda Q|

A) 12 B) 14 C)16 'D)20
3. 1f3 +x—12 = -14—?, then what is equal to*(x* —J%)? ‘
98 x*+— =21 24,6068 (x’ - =) Q AR 69667 -
A)z E ‘ B) E 0= D) 6Q16@E g6¥

35, The populatlon of a town is 126800. It increases by 15% in the 1* year and decreases by 20%
in the 2" year. What is the population of the town at the end of 2 year? -

6QIE Q2aQ 6AIRA°EY 126800 | 9an @F 9 15% 9F §9 98 §010 od 20% @FaN |

F010 UQ 6H96Q A2A 6AINA°SYI 69697 :
A) 174984 "~ B) 135996 C) 116656 ' D) 145820

36. The average of lemperamrc from Monday to Wednesday was 37° and from Tuesday to
Thursday was 34°. If the temperature on Thursday was 4/5" of that of Monday, what was the
temperature of Thursday? .
6QINGIR0IR QIS A48 AR QIAFIG 37° C 98° ATRVA0IQ JRKIR AL 34° C gl
| 9 YReIQQ SIIAIGI 64IFIRIeR FITFIGIa 4/5 2ra §9, gRIIe SIUAIg 6a6Q 6257
A)35.5%¢c 'B) 34°% C) 36.5% D) 36%
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37. A Principal amounts to Rs.944 in 3years and to Rs.1040 in Syears. If each sum was invested
- at the same simple interest, what is the pnnmpal"

elad Fl@e of adea 944 6FI Ne° QIg 996@ 1040 eI gﬂ l Q@ QG@HQ IR6RIR QIR

Qi LINER 6TINAN, 6069 RURT ARG 6966 ?

. A)Rs.800 B) Rs.991 C) Rs.750 D) Rs.900

38, What will be the compound interest of Rs.16000 for 9 months at 20% per annum if
compounded quarterly?
G@ﬂl@]@ 99@@ Qal 2QI96Q, 16000 §<I1Q 9 ﬂIGGQ 20% LIQER 99@@ QU E6@REE 6297
A)Rs.2518 B) Rs.2520 C) 2522 D) 2524

39, A book seller sells a book at a gain of 10%. If he had bought it at 4% less and sold it for Rs.6
more, he would have gained IS% %. What is the cost price of the book?

o068 o8 650! 601G @29 10% AINEH §G0a | AT 6Q 61g 4% a¢ QN6 @8Rl 99° 6

g% 2@ QANEH 7 *ReIS), 6Q 18 -2-% QN RIS | YTTQ FEIIA 6QES ?

A) Rs.130 B) Rs.140 .C)Rs.150 D)Rs.160
40. There would be 10% loss if some rice is sold at Rs.5.40 per Kg. At what price per Kg should
it be sold to earn a profit of 20%7

@8 Qlawy @EMGIN 9% ©.5.40024 SFem 10% A% 622 | 20% AR GQG‘I?L Ay Qeqigia

g% 6966 oCI6a §GaIq 6297 Techofworld.In
A)Rs.7.20 B) Rs.7.02 - C)Rs.6.48 D) Rs.6
MATHEMATICS: SECTION-B: 20 Marks

Instructions : Each question under this section carries one mark. Please read each question
carefully and answer them by s‘electing the right one out of the multiple answers given below

eachas A, B, C and D.
41, Ifa shopkccper sold a book wnh 20% profit aﬂer giving a discount of 10% on the marked
price, what is the ratio of cost price and marked price of the book?

A% F6E 6QIRIF 6QITN QTR NYE A QAR 10% QQFG‘ 6e@ 20% AR QGG& Q@G Qal

fJmy aQ® Qgo Wi agale 6R607
A)6:5 B) 5:6 C)34 D)2:3

42. A, B and C entered into partnership in a business. A got 3/5 of the profit. B and C distributed
the remaining profit equally. I C got Rs.400 less than A, what was the total profit?

A, B 3 C §id 65154 QIeQI0 2102 283 | A IR 618 3/5 2°a QIRRl | B 9e° C 2988 AINg

QAR ISR FFERER | AT C, A 0Iq 400 §1 A4 AIRAI, AR AR 6R6E 629 | -

A) Rs.1600 B) Rs.1200 C) Rs.1000 D) Rs.800 -
43. A reduction of 20% in the price of Sugar enables a man to purchase 4Kg more for Rs.280.
What is the original rate of sugar? .

§F @a6a 20% Q1A 6QIY K66 4B 280 6FIER 4 6aF 2R 67 AGAIg and g9 1 §Fa AR

QR 6R607 A . '

A) Rs.10 Per Kg B) Rs. 17.50 Per Kg C) Rs.20.5 Per Kg D) Rs.24.5 PerKg
44, [fasum of money at compound interest amounts to thnce in 3years, in how many years will

it be 9 times?

A% 9998 Qu6R 65163 PR 3 ad6R OF gd 29, 6960 AUER 6aT 671 9 98 6297

A) 12yrs. B) 6yrs C) 9yrs D) 15yrs

45, A certain sum becomes 8 fold in |5years at simple interest. What is the rate of interest?
66T FRR AaR QUEA 15 QE6R 2U0'YA 99 | RIN 2R 6@68?

A) 463% B) 462 % C) 462% D) 462% -

46. Find out the unit digit in the Product of (268 x 539 x 826 x 102).
(268 x 539 x 826 x 102) Q JETRA ARG ST 69667
A)S . B)3 )4 . D)2
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' 47." Find ‘out the LCM of 2/3,°3/5, 4/7 and 9/13.
C2/3,3/5,4/7 96" 9/13Q AQIg A4a 0Q |
A) 36 B) 1/36 . C)1/1365 D) 12/455
48. Which smallest number must be added to 2203 to get a perfect square?
220360 679 YA Q'S 6ATNEM 69T g aeay ARAIBR?
A)l - B)3 . C)6 ' D)8
49, Ifx+y=1, whatis the value of x*+ y* + 3xy ?
Q@ x +y =1, 6669 x*+ y* + 3xy Q A 6Q66? _ .
: ‘A) -2 B) I C)2 D)3
50.  The difference between 78% of a number and 59% of the same number is 323. What is 62%
- of that number?

6QIGa QIR 78% q9° 59% FIIER YERIR 323 | 6QT QIR 62% 6960 6297
A) 1054 ' B) 1178 C) 1037 © " D)1159
51. The average of 4 consecutive even numbers is 27. What is the greatest number?
| 196 999 99Qasia ARG 27 | 9] AT 69657
A) 28 B) 26 ‘ C)32 D)30 |
52. Suresh barrowed Rs.800 at 6% and Narcsh barrowed Rs.600 at 10%. After how much time,
both of them will have equal debts.
gead 6% wese BOO o1 9a° 968 10% «Ia6a. 600 OFl QOF Q6R | 6RET LALIER

ERARIRE Q4R AGAIG AAIR 6297 TeChOfWO |’| d | N
A)IS-iyr - B)M—z-yr C)ISE : D) |6§yr
£3, The difference between the compound interest and simple interest on a certain sum at 5% for

2 years is Rs.1.50. What is the sum?
5% gIa6a 2 @dea 616d 6RIR 99‘7{_’@ q&l Q° AQR Qi ARIER Qieiey ¢.1.50a04 radl 698

SeIR 9816 6966 ?

. A)Rs.600 B) Rs.500 " C)Rsd400 - D) Rs.300
54. A circle and a square have the same area. What is the ratio of the side of the square and the
radius of the circle?

6T @R I9° 661G QTEAER CAGTR AR | 6069 6QF eaeﬂga elg Qe QAR @qmm

65ENR 2AGANS 6969 6217 _

A)Vm: 1 B) 1:vm C)ml D) 1:m

8 T
g e

S5. 1FA:B: C=0:3:4 thend: 2
[fA.B.C 2..:.4,lhan =

a0 A:B:C=2:3:4,6069 2 : 2: £= 6a667? 5

A)8:9:16 B)8:9:12" C)8:9:24 D) 4:9:16
§6. What will be the remainder when 19' is divided by 20?

191G 20 FIQI QITREA ATEAT 6968 6297

A) 19 B)20 03 _ D) |
5;1/ If p+q=10and pq = 5, what is the numerical value of E + ]—‘:‘?

9@ p+q=104e"pg=>5 g9, 666% §+%a AR R 6667

A)22 B)18 ‘ C) 16 : D) 20
58, Ifal+ 1 =a, whatis the value of a'>+a®+ 1 2

A% a*+1=23,6069 2" + 2"+ 1 Q A4 60687 : _

A)2 o B) 3 C)+3 D) I
59. 1f90% of A=30% of B-and B=X% of A. what is the value of X?

QG A Q90% =B ©30% ¥9* B= A @ X %, 696@ X Q Fa 69667

A) 600 - B)800 C) 300 ~ D)900

M ARAPAA 1A Anaw P Y
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60. A man covers half of his journey at 6 Km/hr and the remaining half at 3 Km/hr. What is the
average speed of his journey?

866 6AIQ 61 QIR 2l QIF I4IgE 6 FeAIFica 6easa 1e° 2988 2 aeIgh 3 Feqifica
695160 AN | 6068 AIFIR NI 699 69667 -
A)9Km/hr - B) 4.5Km/hr C)4Km/hr D) 3Km/hr
Part-11 - BASIC COMPUTER SKILL '

SECTION-A: 80 Marks
Instructions : Each question under this section carries two marks. Please read each
question carefully and answer them by selecting the right one out of the multiple answers
given below each as A, B, C and D.

61. To edita chart, we can- ' TeChOfWO rld A I n

A) double click the chart object. B) click and drag the chart object.
C) triple click the chart object. D) click the chart object.

62. Read the following statements and answer which of these is/are correct using the codes gwen
below.

i. The 'Save As' dialog box is used to open a  saved Excel file. :
ii. The 'Save As' dialog box is used for saving the file for the first time.
iii. The 'Save As' dialog box is used for saving the file by some alternative name.
A) only i correct B)i & ii are correct
C) ii & iii are correct * D) None of these
63. A worksheet is made of columns and rows, wherein-
A) columns run horizontally and rows run vertically
. B) columns run vertically and rows run horizontally
C) the run is débcndent on the application being used
D)BothBand C )
64. How can you select the text without using the Mouse?
A) It is not possible '
B) Use the F7 key
C) Use the arrow keys while holding down a Ctrl key
D) Use the arrow keys while holding down a Shift key
65. “Ctrl + Right Arrow” is used lo-
A) move the cursor onc word to the right. B) move the cursor to the end of the line.
C) move the cursor to the end of the document. D) move the cursor one Paragraph down.

66. Which of the following syntax is correct regarding use of SUM function in Excel?
A)=SUM(AI1,BI) - . B) =SUM(A1:B9)
C) =SUM(A1:A9, B1:B9) . D) All of these

67.  Which option will be used to join'some cells and place the content at the middle of‘thcjomed
cell in MS Office word 2007 and onwards? .
A) From Format Cells dialog box click on Merge Cells check box. .
B) From Format Cells dialog box select the Center Alignment.
C) From Format Cells dialog box choose Merge and Center check box.
D) None of these
68. What is/are the function/s of a backup?
A) To restore the backed up information.
B) To retrieve the system files..

C) To restore the system in the event of a system crash or failure. . . e
D) All of the above '
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